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19 For real time

a) Minimal

c) Zero
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a) Lockstep B , -.-' b) Openstep Basis

i'i. "c) Early Basis o"i d) Deadlock Basis
,,\,3

.tN"t--

operat.1. g systems, interupt latency should be

b) Maximum

v) Which of the following is not an operating

a) Windows

c) Oracle

\4) The shell script is _.
a) File containing a series of

d)

b)

d)

b)

c)

d)

File containing special symbotrs

Group of comrnands

Group of Functions
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di) IV{emory management
data from o..ondury

technique in.which system stores and retrieves

a) Paying
rn matn memory is called

* b) Fragmentation

c) Mapping

d) None of
vi0 Which of

a) Pro

c)

a) RT Linux
c) Windows CE

is a windorvs u

cannot be scheduled by the Kernel?
b) User-level thread
d) None of the mentioned

tiprocessing systems of the computer system use

ix)

I

I

x)

xi)

ting systern?

x

the above

that locates and eliminaunnecessary fragments files and unused disk spaceoptimize operations

a) Disk o.j*t,..' fi'\ Restorec) Disk cleanup d) Backup
xii) What will be the outptffi Ibllowing command.

$$$$

b) The process id is <pid> <pid>
c) Tire process icl is $<p icl> $<picl>
cl) The process id is $$

$echo "The process.id is,,
a) The procer. ij-i, $$

r1...
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*'# '

tes

to
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$$
xiii) Which ofthe following algorithm

flow tirne?a) First come First Served b)
Earli est Deadline First)C

t

xiv) Virtual memory m memoryhi
a) RAM and hard disk
c) Cache and RAM
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xv) Software can be removed and installed through.

1 panel
1}.

1

f

xv0

a number"

I l; then

less than 100";

0, then what will be the output

the

echo

t

xvii) Which option is aprocess ls

d)

command is used

d)

r,vhen

a)

b)

c) rnutualexclusion

d) critical exclusion

xviii) In message passing a process receives

a) Send

c) Receive

xix) In Linum OS

a) chkdir

c) pwd

b) Send

b)

then no other process be executing
::,.,."

es can
t'

asyncnronous excluslon

synchronous exclusion

directory you are in
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above

a) Installer

c) Deburgger Linker

of the prograrn? t\
t,..;:: *#

t:_",\ n

". '\,-)
lt\ '

,",lii.

i)e.

-It 10001;then

"it is iess than 1000"

echo "it is greater than 1000"

fi

exit 0

a) It is greater than 1000

b) It is less than 1000

c) It is equal to 1

d) None of the
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&x) Which command is used to remove the files.
a) delete

c) dm

Q2) a) Wrat is op

b)*-,.nn

dI erase

. :.':r

b) Explain PCB

a) Explain

b) Write

characteristics of OS.

onversl0n.

Explain how deadlock can be avoided.
of multiprocessors.

OR
any two CPU scheduling algori
Mobile operating systein?

t6l

[41

t6l

{41

t6l

141

t6t

t6l

t6l

I4t

83) a)

b)

a)
.. ,) "'

Expl,ain

W6at isb)
bile oS. l4l

Q4) a) Describe components of
b) Explain any 2feafures of system control panel. t4]

a)

b)

Qs) a)

b)

Expiain applications o

Describe any 4

a)

b)

1
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